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JrAT=T fAE2T- (General Instruction)
> qeTet FATET 319t el A 3 S|

(Examinee write answer in their own words as far as practicable.)
> ol Ul dhr TEAT 19 7
(The total number of questions is 19)

> 9T 1/ YR 7 Teh TTTERRIT 9T & | STl U Tehdll dier 9eaAt & 3
31fhaH T arerT A AT TS 927 &7 AT 2 37 FeaiRa &

(Question 1 to Question 7 are very short answer type questions. Answer
any five of these questions in at most one sentence. Each question carries
2 marks.)

> 9T 8 § YReT 14 ofeh TERIT U & | SoTH & fehogl 5 YRl & 3o HThehad
50 erecl H ESTT| Yedeh 2T M AT 3 37 fAuiRa 2

(Question 8 to Question 14 are short answer type questions. Answer any
five of these questions in at most 50 words. Each question carries 2
marks.)

> U EAT 15 J YT 19 deh SE3a8rT T g | 578 & foregl T W&t & 30X
31T ad 100 2reel & ST | TAeh 9T &l AT 5 37 AeTRa g1

(Question 15 to Question 19 are long answer type questions. Answer any
Three of these questions in at most 100 words. Each question carries 5
marks.)



3fq &g 3a8F 9T (Very Short Answer Type Questions)

1.

AU ATEY |, JUITR AT AR gRIcHAD ALY & HIY I FERId e
arell g ford |
Write the formula that shows the relationship between Arithmetic Mean,

Geometric mean and Harmonic mean.

. U dooldlsl I dealdlell o 3T TR @l IS Tdh declars garT s

5 gt & ST AT T §-

Calculate the batting average of a batsman, the runs scored by a
batsman in last 5 innings are-

65, 117, 3, 60, 55.

QY el A foRdl A0 & Seol AT G N WHT HAHT YT H FAT HEd

g7
What is the basic tendency of a series to grow and decline over a

period of time called?

. 5 3 125 T UK ALY FAT GHM?

What will be the Geometric mean of 5 and 1257

. few v 3rienst @ efasy & MRSt & AT Hr Teheileh Pl FIT FHgl ST 872

What is the technique of estimating future figure called?

. AT @a 31ersl &1 AT &l AT FAT gIRM?

What will be the value of median of the given data?
28, 189, 73, 52, 91

. mafeEa A& Sgerh I Al F1 glam?

What will be the value of mode?
9, 86,7, 5 6,3,6,1,6

g FIT 92T (Short Answer Type Questions)

8.

1, 5 3X 200 & IONR ALY fAeprel

Find Geometric mean of 1 ,5 and 200.



9. forell gleet & et SAIRAT AT 3 3P 40 ¥ o Tk FATR e g
30 ¥ AT glcel BISHT Tl AT, AV HAURAT Hr AFT 3G 741 gefr?

The average age of 3 employees of a hotel was 40 years, an employee

aged 30 left the hotel, what will be the average age of remaining

employees?

10. afe Arey = 23, AfETRT = 27 A Sgefh F A AT H]

If Mean= 23, Median= 27 then find out Mode.
1. 3 avi¥ ¥d ALY ¢aRT 39l Hed foAehrel

Find out the value of the trend by three early moving average.

Year

2015

2016

2017

2018

2019

2020

Value

25

27

26

23

29

28

12, S[dl T #AiSel ASST folehrel

Find out modal size of shoes

EGUEIR:IET]
(size of shoes )

6

7

10

11

O FEdT
(No.of students)

14

16

25

11

13. i HATA ATET 50 § AR gUcHS AT 32 § o UK AT F1

gram?

The Arithmetic mean is 50 and harmonic mean

geometric mean?

14, 3R VT U ST 0T H AR FISC Y |

Differentiate between Interpolation and extrapolation.

is 32 what will be the




& 398F 92 (Long Answer Type Questions)
15.  forAfaf@d 3mest @ Tt ge&d AT garT Sreerellsl Ygid 7Ald Hifeiw

Find out trend by least square Method from the following data-

Year 2015 2016 2017 2018 2019
Price 93 102 81 100 179
16. HATET foahrel
Find mean-
g 3R (C.) 10-20 20-30 30-40 40-50 50-60
SRERAT (Frequency) 34 36 43 37 40

17. @I Hehrel

Calculate median

T 3Tt (C.l.) 20-30 30-40 40-50 50-60 60-70

SRERAr (Frequency) 45 48 66 63 68

18. 77T 3NTaRevTeT 3 &7 STaATST e 2009 1 Adernes Aehre

Using any interpolation method find out the likely index number for 2019

Year 2017 2018 2019 2020 2021
Index no. 100 111 ? 156 180
19. g IGEAG]

Calculate mode

JaT HRTel (Class) 10-20 20-30 30-40 40-50 50-60

SRERAr (Frequency) 43 65 97 61 44




